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8 + 4 = 

Calculations up to 20
Solve the problems.

8 + 5 = 

6 + 3 = 

7 + 7 = 

7 + 5 = 

9 + 2 = 

9 + 5 = 

2 + 7 = 

3 + 5 = 

2 + 9 = 

8 + 8 = 

7 + 7 = 

7 + 8 = 

5 + 5 = 

5 + 6 = 

12 + 7 = 

2 + 12 = 

16 + 3 = 

11 + 7 = 

9 + 11 = 

15 + 5 = 

13 + 3 = 

11 + 8 = 

13 + 6 = 

10 + 4 = 

9 + 9 = 

7 + 7 = 

8 + 8 = 

5 + 5 = 

6 + 6 = 

19 - 5 = 

15 - 9 = 

17 - 8 = 

16 - 7 = 

15 - 6 = 

13 - 5 = 

15 - 8 = 

19 - 9 = 

17 - 9 = 

15 - 4 = 

14 - 7 = 

16 - 8 = 

18 - 9 = 

12 - 6 = 

18 - 7 = 
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2. There are 6 cookies in a box
How many cookies are there in total in 7 boxes?                           cookies    

3.There are 6 bags with 3 marbles each. 
How many marbles are there in total?                                         marbles

4. There are 4 towers made of 8 blocks each. 
How many blocks are there in total?                                             blocks                    

Word Problems
Read the stories and solve the problems.
Show your thinking.

1. A car has 4 wheels. 
How many wheels do 6 cars have?                                               wheels



15 +   36   = 25

23 +   36   = 30

23 +   36   = 40

36 +   36   = 40

48 +   36   = 52

51 +   36   = 60

39 +   36   = 80

32 +   36   = 70

15 +   36   = 40

62 +   36   = 82

43 +   36   = 63

76 +   36   = 86

44 +   36   = 80

25 +  36   = 65

33 +   36   = 75

16 +   36   = 35

45 +  36   = 65

65 +   36   = 82

Solve The Problems
Flip spilled ink.
Solve the calculations.
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1. Tessa buys 3 packs of cookies. 
Each pack contains 6 cookies. 
How many cookies are there in total?

                    cookies

2. There are 64 people on the train. 
First, 5 people get off, and then 12 people get on. 
How many people are now on the train?

                    people

3. Nine children buy ice cream. 
Each child chooses an ice cream with three scoops. 
How many scoops are there in total?

                    scoops

4.There are 26 children in grade 4. 
There are 32 children in grade 5. 
How many children are there in total?

                     children 

5. Each bunch has 4 bananas. 
The teacher buys 7 bunches. 
How many bananas are there in total?

                       bananas
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2. Daisy puts 40 markers into boxes of 5. 
How many boxes can she fill?                                                         boxes

3. Sean shares 24 beads with 8 children. 
How many beads does each child get?                                       beads

4. Joyce puts 25 eggs into boxes of 5. 
How many boxes can she fill?                                                        boxes

Word Problems
Read the stories and solve the problems.
Show your thinking.

1. Brandon puts 15 candies into 3 bags. 
How many candies go in each bag?                                            candies          



25 -   36   = 10

35 -   36   = 15

40 -   36   = 20

60 -   36   = 25

50 -   36   = 22

30 -   36   = 15

65 -  36   = 45

40 -   36   = 15

32 -   36   = 25

45 -   36   = 5

60 -   36   = 40

44 -   36   = 33

46 -   36   = 35

60 -  36   = 38

38 -   36   = 29

45 -   36   = 39

56 -  36   = 38

71 -   36   = 58

Solve The Problems
Flip spilled ink.
Solve the calculations.
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1. Caleb is reading a book with 46 pages. 
He is on page 29. 
How many pages does he have left to read?

                    pages

2. There are 35 birds in the tree. 
17 birds fly away. 
How many birds are left in the tree?

                    birds

3. There are 26 children in group 4.
Half of the children wear glasses. 
How many children wear glasses?

                    children

4. Logan's plank is 16 centimeters long. 
Mason's plank is twice as long. 
How long is Mason's plank?

                     centimeters

5. There are 65 red and blue crayons. 
34 crayons are red. 
How many blue crayons are there?

                       crayons
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Solve The Problems
Solve the multiplication problems. 
Show your thinking.

6 x 7 = 
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3 x 8 = 

5 x 7 = 

4 x 9 = 
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